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N - #h £ 50 cm
No| BIEH |#1X%A e &% 4 T HELT B & = i
1 FETHHEE 0.06 - 0.07 -
2 REfE 0.06 - 0.06 0.07
3 AEREM 0.07 - 0.07 -
4 AR E 0.07 - 0.07 -
5 AIXRERR 0.06 - 0.06 -
6 RAHHE 0.06 - 0.06 -
7| 4A7H REE®HLMES 0.05 - - -
8 BUSFEREE 0.07 - - -
9 HIZHHEE 0.07 - 0.07 -
10 tERER 0.07 - 0.06 -
11 THERER 0.06 - - -
12 WY H R 0.06 - 0.06 -
13 A |EEREM 0.06 0.06 0.06 -
14 ﬁ ENELERBERE 0.06 0.06 0.06 -
15 X |KIBERERT 0.07 0.06 0.06 -
16 E/vF+ 0.05 0.05 - -
17 KBAR BRI 0.05 0.05 0.06 -
18 VFELYREE 0.06 - 0.06 -
19 1A9E i%ﬁ':’éﬁﬁ_ 0.07 - 0.07 -
20 EBRARER 0.05 - 0.05 -
21 BEEREM 0.06 0.06 0.06 -
22 AEIFREERE 0.06 - - -
23 ELFYHE 0.08 0.09 0.08 -
24 BRENHE 0.06 - 0.07 -
25 HRREF 0.05 0.06 - -
26 1A7E ULV RAIEE 0.06 - - -
27 REFLU-CSURAESABE 0.06 0.07 - -
28 3 EREF)IREFR 0.05 - 0.05 -
PRy _
22 4B108 fé j_cﬁfﬂf R it 0.06 0.07 o.ci7
x =& RB AT 0.06 0.08 0.07
31 KINMRERT 0.07 0.07 0.08 -
32 BILRER 0.07 0.07 0.07 -
33 LR EFR 0.06 0.06 0.06 0.06
34 . EHRER 0.07 0.07 0.06 -
35 m (AT MRER 0.06 0.05 - 0.06
o 7P| mgem 0.07 0.07 0.07 0.07
= ;
37 BEXRE 0.07 0.06 0.07 0.07
38 AOVREHE 0.06 0.07 - 0.06
39 TYVARER 0.05 - 0.05 -
40| 4R108 | #k&E |FHEER 0.07 - 0.07 0.06
41 it |BEERER 0.06 0.06 0.07 0.06
42| 4A3H iﬁ HERREM 0.07 0.06 0.06 0.07
43 X [(fBIIRERT 0.07 0.08 0.70 0.08
44| 4A1B | HE |HEMXKRER 0.09 - 0.10 0.11
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